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COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

S5
     50A   1      10     8     142    1136
     50A   2      10     8     138    1104
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

S6
     50A   1      10     8     142    1136
     50A   2      10     8     138    1104
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

S10
     50A   1      10     8     142    1136
     50A   2      10     8     138    1104
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

S11
     50A   1      10     8     142    1136
     50A   2      10     8     138    1104
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

S12
     50A   1      10     8     142    1136
     50A   2      10     8     138    1104
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

S13
     50A   1    12.5     8     182    1456
     50A   2    12.5     8     178    1424
     50A   3    12.5     4     100     400
     50A   4     6.3     5     112     560

S16
     50A   1    12.5     8     178    1424
     50A   2    12.5     8     182    1456
     50A   3    12.5     4     100     400
     50A   4     6.3     5      92     460

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
     33        8    6.3     50A
    112       69     10     50A
     86       82   12.5     50A

Peso Total        50A =      160 kgf

S5 / S6 / S10 / S11 / S12 / S13 / S16

TITULO

DATA ESCALA DESENHO COORD. ENG .o

CLIENTE
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